Divide 4-digitS bg 1-d|glt o Use the place value charts to work out the divisions.
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0 a) Circle the groups of 3 to help you complete the sentences
and calculation.
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The first step has been done for you.
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Thereis| 1 |group of 3 thousands.

There are 3 groups of 3 hundreds. WK 2 G
452 9 '6
Thereis| | |group of 3 tens.
There are | 2 | groups of 3 ones.
3936 +3=| | 2%
b) Use the place value chart to work out 8,404 + 4 @ 9 6078:6=| |,0l 3
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o Complete the divisions. L b L 120 c=| 8O
a) d) c c c c c c
o712 613 |
51375 60 61977 '8 6
b) e) o Find the missing digits. O)
0 3 o L’ ‘ 5 L | a) b)
92 %7 376 3/4'6 '8 3 2 2 1 31269
L8 9 6L 216 5(2]|4
) f)
| 161311 2079
46 "5 '2 4 11207 9
0 Books are available to buy in three different deals. O)
Could you have calculated the answer to part f) more efficiently? @ Deal A Deal B Deal C
o Work out the values of @, b and c. Q
9,415 —
a=|1,3u5 £12.99 £38.16 £25.60
alal|la|lal|lal|lala
Which is the best deal? Deod R

Show your workings.
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5,328
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